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Question Number : 1 Question Id : 27911713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To manage and increase the performance of graphics. which of the following is used along with CPU?

Options:
1 % ALU

5 % Math Coprocessor
3 « GPU
4 % Sound Card

Question Number : 1 Question Id : 27911713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 2 Question Id : 27911714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following devices cannot be shared on a computer network?

Options:

1 # Hard Drive
-  Keyboard
3 % CD Drive
4 % Printer

Question Number : 2 Question Id : 27911714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 27911715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which generation of computers, Integrated Circuit (IC) was developed?

Options:
1 # First Generation
> « Second Generation

= « Third Generation

4 % Fourth Generation

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 3 Question Id : 27911715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 4 Question Id : 27911716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MICR stands for:
Options:

, w» Magnetic Ink Character Repetition Code

» % Magnetic Ink Character Reduction Code

5  Magnetic Ink Character Recognition Code

4 % Magnetic Input Character Recognition Code

Question Number : 4 Question Id : 27911716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 27911717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is not classified as Biometrics?

Options:
1 % Voice Scan

> % Retina Scan
5 % Fingerprint
4 « Digital Signature

Question Number : 5 Question Id : 27911717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 6 Question Id : 27911718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an example of an Impact Printer?

Options:
1 « Laser Printer

> % Drum Printer
z % Chain Printer

4 » Daisy Wheel Printer

Question Number : 6 Question Id : 27911718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 27911719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The term LCD in Digital Display Technology stands for:
Options:
, = Light Circuit Display

> w Light Crystal Display
5 » Liquid Circuit Display
4 + Liquid Crystal Display

Question Number : 7 Question Id : 27911719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
BfSee geoe v & &9 F vardgr (LCD) 1 &7 7Y g1 27

Options:

|« omse ®iFe Bre

, » o fhEee T
- » fofFas afFe B
4 v TofFaE rree fTree

Question Number : 8 Question Id : 27911720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following is essential to process sound in a computer?

Options:
1 ® Data Card
> « Sound Card

- % Graphics Card

4 % Network Interface Card

Question Number : 8 Question Id : 27911720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 9 Question Id : 27911721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The software that is owned by an individual or a company is known as:
Options:
. = Open Source Software

- « Proprietary Software

= % Firmware
4 % Third-Party Software

Question Number : 9 Question Id : 27911721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 10 Question Id : 27911722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an open source operating system?

Options:
i « LINUX

> % Microsoft Windows
=z B 108
4 ® OS5 X

Question Number : 10 Question Id : 27911722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 27911723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In computers and digital technology 1 GB is:

Options:

| « 1024 MB
- % 1024 KB
= % 1024 TB
4 % 1024 B

Question Number : 11 Question Id : 27911723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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., = 1024 KB
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Question Number : 12 Question Id : 27911724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following software utilities detects and removes harmful threats to a computer and its data?

Options:
1 « Anfti-Virus

> % Disk Defragmenter

5 » Compiler

4 % Assembler

Question Number : 12 Question Id : 27911724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 27911725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following operating systems is NOT a Unix Flavour?

Options:
1 # Red Hat

> « Marshmallow
- % Fedora
4 # Ubuntu

Question Number : 13 Question Id : 27911725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 27911726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

GUI is a short form for:

Options:

, w Graphics Utility Interchange

> % Graphical Utility Interface
3 o Graphical User Interface

, % Graphics User Internet

Question Number : 14 Question Id : 27911726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 27911727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What type of software Oracle is?
Options:

1 ® Firmware

> « Database

- % Graphic Designing

4 % DBrowser

Question Number : 15 Question Id : 27911727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 27911728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Windows commands is used to partition a hard drive?

Options:
i v DISKPART

> % FORMAT
s % DISKCOPY
4 % DEFRAG

Question Number : 16 Question Id : 27911728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. v DISKPART
» » FORMAT
- % DISKCOPY
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Question Number : 17 Question Id : 27911729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following formats data is stored in a computer?

Options:
1 # Hexadecimal

-  Binary
= % Decimal
4 % Octal

Question Number : 17 Question Id : 27911729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 18 Question Id : 27911730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following methods cannot be used for Data Transfer between two computers?
Options:

| ¢ HE

> % Wi-Fi

5 s LAN Cable

4 ® Memory Stick

Question Number : 18 Question Id : 27911730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 27911731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows OS which of the following Shortcuts is used to close the currently active application window?

Options:
, & SPACE+F4
, » CTRL+F4

5 ® SHIFT + F4

. v ALT +F4

Question Number : 19 Question Id : 27911731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

SPACE + F4
1 %

CTRL + F4
2 %

SHIFT + F4
3 %

, ALT + F4
4

Question Number : 20 Question Id : 27911732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following cannot be used in establishing Internet connection?

Options:

1 #% Switch
-~ % Router
3 « HDMI

4 % Modem

Question Number : 20 Question Id : 27911732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 27911733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options performs Power On Self Test when a computer is switched on?

Options:

, % CPU

> % Hard Drive
- #% SMPS

4 « BIOS

Question Number : 21 Question Id : 27911733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % CPU
- = SMPS
. » BIOS

Question Number : 22 Question Id : 27911734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The term UPS in Computer Power Backup Terminologies stands for:

Options:
; = Undivided Power Supply

-  Unintermptible Power Supply
5 % Universal Power Supply

4 % Unified Power Supply

Question Number : 22 Question Id : 27911734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 27911735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is True about “Log Off” option in Windows QS?

Options:
, « Closes all applications of the current user and keeps the computer running

> % Closes all applications of the current user and Shuts Down the computer

- » Closes all applications of the current user and Restarts the computer

, % Closes all applications of the current user and Hibernates the computer

Question Number : 23 Question Id : 27911735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 27911736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A person who gains an illegal access to a computer with the intention of stealing computer’s data is known as:

Options:

1 % Administrator
> % Analyst
% « Hacker

4 % Programumer

Question Number : 24 Question Id : 27911736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 27911737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following terms is used when a Computer is started from a Powered-Down or OFF State?

Options:
1 ® Warm Boot

> « Cold Boot

- » Formatting

4 % Boot Sequence

Question Number : 25 Question Id : 27911737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 27911738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following tables is used by the Windows Operating System to store information about Files?
Options:

e, File Allocation Table

» % File and Folder Table

» BIOS

, » Directory Index Table



Question Number : 26 Question Id : 27911738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 27911739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The abbreviation IP in the term IP Address refers to:

Options:
| % Internet Procedure

> % Internal Processing

- % Internet Provider

4P Internet Protocol

Question Number : 27 Question Id : 27911739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 28 Question Id : 27911740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The term W3C in the internet terminology resolves to:

Options:
1 # World Wide Web Consolidation



o u Wworld Wide Web Configuration

3 « World Wide Web Consortium
4 » World Wide Web Corporation

Question Number : 28 Question Id : 27911740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 27911741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Acronym DOS stands for?
Options:

, = Digital Operating System

-  Disk Operating System

- » Desktop Operating System

4 w Decimal Operating System

Question Number : 29 Question Id : 27911741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 27911742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Which of the following is a standard security technolegy for an encrypted connection between Web Server and Web
Browser?
Options:

, « Secure Sockets Layer (SSL)

-~ » Hypertext Markup Language (HTML)
- % Data Definition Language (DDL)

4 = Application Delivery Controller (ADC)

Question Number : 30 Question Id : 27911742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 27911743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the basic unit of a Computer Display Resolution?

Options:
, % JPEG

-~ % Bitmap
3 « Pixel
4 % GIF

Question Number : 31 Question Id : 27911743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 27911744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a Malware?
Options:

, % Adware

- Spyware
= ® S J
5 o Firmiware

4 % [Irojan Horse

Question Number : 32 Question Id : 27911744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 27911745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Windows 08 which of the following commands opens the Registry to Search. Add and Edit Registry entriss of
Applications?

Options:

, % Inetmgr

> % mndll32
5 o regedit

4 % registerfile

Question Number : 33 Question Id : 27911745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % Inetmgr



- % rundll32

5  regedit

, = registerfile

Question Number : 34 Question Id : 27911746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows OS5 to “Prolubit a User to change the System Date and Time", necessary privileges can be set using
Options:

, % Event Viewer

-  Local Security Policy

5 ® User Accounts

4 % Date and Time

Question Number : 34 Question Id : 27911746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 27911747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is True about the Document Outline in MS Word?
Options:
, w Astructural view of a document with headings in Web Browser

o o Astructural view of a document with headings at various levels and associated text
- u Astructural view of a document with headings in Full Screen

4 % Astructural view of a document with headings as Hyper Links

Question Number : 35 Question Id : 27911747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 36 Question Id : 27911748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Word 2010 template has an extension:

Options:
1 « DOTX

> % .ODT
T B RTF
4 % XPS

Question Number : 36 Question Id : 27911748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Word 2010 EFIeIT & TFHeT FT 272
Options:

, v .DOTX
, % .ODT
s ® .RTF
. % XPS

Question Number : 37 Question Id : 27911749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In M5 Word, the process o create personalized letters amd pre-addressed envelopes or mailmg labels for imass mailing s
referred fo as:
Options:
1 % Table of Contents

> # Indexing
=z % Cross-Reference

4 « Mail Merge

Question Number : 37 Question Id : 27911749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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7 TT FF FEA N

Options:

| % CFT 3T FHeH

. S
z ® EﬁW—W
4 v HE A

Question Number : 38 Question Id : 27911750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options 15 nsed m M3 Word to mark a specific place in a docunent for later reading or retrieval?

Options:

, w» PageBreak

- % DBullet
= « Bookmark

4 » Hyperlink

Question Number : 38 Question Id : 27911750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS Werd # Teafafea # ¥ 5 ReeT =1 370 sisgae # Bfire e 3 7% 5= F e G
e § ol 38 oA & wer o e ® g o mee

Options:

1 ® '-)I?Fa?

Question Number : 39 Question Id : 27911751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS Word. a line of text that describes a diagram or an object and placed right below it is known as:

Options:
1 % Comment

> % Endnote
= % Footnote

4  Caption



Question Number : 39 Question Id : 27911751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Word &, 95T $1 TF A1 =7 500" o 5T de=ige F1 3099 a7 £ 3t Bg =% S 7
TET AT § 3 &7 FEa 27

Options:

1 ® m
= . TSAle
FHeAE

T ®on

4 v T

Question Number : 40 Question Id : 27911752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The additional margin added to a page layout to compensate for the part of the paper made mmusable by the binding
process is known as:

Options:
, w Paragraph

o  Gutter Margin

- » Tlab Space

4 # Orientation

Question Number : 40 Question Id : 27911752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TETET & AT 997 F Bry F I9anh 39 F B oF e 7 oanfae v oow swates afEe F
T FES 27

Options:

Question Number : 41 Question Id : 27911753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS Excel. which of the following keyboard shortcuts can be used to create a chart from the selected cells?

Options:
1 « Fl11

>~ % F1l
z ® F5



4 ® FS8

Question Number : 41 Question Id : 27911753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Excel #, I9fag Ucq ¥ I 39 & U &g FEE oicede &1 39T Far ar 272
Options:

1« F11

Question Number : 42 Question Id : 27911754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a correct representation of cells selection. starting at D1 and ending at F5?

Options:
1 % D-1:F-5

> % 1D: 35F
s @ D1L:FS
4 % D1:5F

Question Number : 42 Question Id : 27911754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T D1 ¥ ¥ Fh F5 T Hed I & [0 Arafoiad & § Hid 6 TEAR0T 3 287

Options:

, % D-1:F5
, = 1D : 5F
2 v D1:F5
. = D1:5F

Question Number : 43 Question Id : 27911755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The command Ctrl — K in MS-Word is used to:
Options:

; w» Copy the Selected Contents

- « Create a Hyperlink

= % Redo the Last Action

4 % Paste the Selected Contents

Question Number : 43 Question Id : 27911755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

MS-Word & &H1E Ctrl + K &g BT 39gier & =ar 87
Options:

| % TART FT T FH T F AT

. v BRI g & o

. » o FEEE # R T w4 & B
4 % TIAT FT F U WA F BT

Question Number : 44 Question Id : 27911756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following option in MS-Word copies the formatting from one place and apply it to another?
Options:

1 o Format Painfter

5 ® Copy Format

- % Clear Format

4 = Clip Art

Question Number : 44 Question Id : 27911756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS-Word & o & & form e &7 39ieT 0% FUTT fr WIATET @7 ST ek SET FU 9T @
i & for for =mar B2

Options:

| BIHE YT
1.,
FIAT BIHST
ey wiAe
4 W ﬁﬂ-q-a'ﬂ-é-

Question Number : 45 Question Id : 27911757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following inserts a decorative text in MS-Word document?

Options:
, w ClipArt

-~ % SmartArt
5 « WordArt



4 % SmartText

Question Number : 45 Question Id : 27911757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=@ # ¥ #i9 MS-Word # T=9er e =eaT 27
Options:

1 % Feraae
. % THACHIC
3 v TEIE
4 % THCEFES

Question Number : 46 Question Id : 27911758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Excel, a file that memorizes the current layout of all open windows and workbooks is known as:
Options:

, « Workspace
~ % Macro

5 % WwebPage

4 % XML

Question Number : 46 Question Id : 27911758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Excel &, 3¢ WTgel 1 Wl et [er 3t 3Has & Ay w33e #7 Ag WA § 30 F Fad &

Options:

1_33?@
o % HFI
5 % 99 9
4 % XML

Question Number : 47 Question Id : 27911759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A call with a Formula is copiad. Which of the following will let ns paste Only the Formmila and ™ot the valoes of the
cell?
Options:

, w» Functions

- % Conditional Formatting

-  Paste Special



4 % Format Cell

Question Number : 47 Question Id : 27911759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THAT F WY UF ¥ F F0 T o § Teiatae # v T e oo = B e u
F W, @1 T 35y, # T 7 uEA 17

Options:

1. % i

il T BN

| 9TE T
3.
4 #® ‘-flﬁ?@ﬁ'

Question Number : 48 Question Id : 27911760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following is referred to as an Absolute Cell Reference?

Options:
; % SD!8

, « SDS3
. % D8

, % DSB8

Question Number : 48 Question Id : 27911760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
= & ¥ 58 taaege 89 THE & &9 # Hefig fohar Jrar 82
Options:

| SDI8
_ ., SDs8

D8

o %

Ds8

4 ®

Question Number : 49 Question Id : 27911761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A Formula must be preceded by:



Options:
, « Equal To (=) Sign

> % Dollar (S) Sign
5 % Exclamation (!) Mark

4 # Colon() Sign

Question Number : 49 Question Id : 27911761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

it LYY i Y
fFdr ®eeT & 9ge Hid @1 Rieg g anfge?
Options:

| v WX (=) FT fHem

, % SIoR (3) & feme
. EEHATCErde (!) fereme
% o (1) FT e

Question Number : 50 Question Id : 27911762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a Search Engine?
Options:

, » Google

> u Bing

5  GoDaddy

4 % Yahoo

Question Number : 50 Question Id : 27911762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fTafefaa # § #i9 @1 g9 =34 76 87
Options:

, = Google

. % Bing
-  GoDaddy

4 % Yahoo

Question Number : 51 Question Id : 27911763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

For secured transactions and browsing over the internet, the protocol used is:



Options:

1 Hyper Text Transfer Protocol Secure

- % Secure File Transfer Protocol

- » Post Office Protocol

4 # Media Transfer Protocol

Question Number : 51 Question Id : 27911763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
g W PIET adea T gl & v e 7 @ 5w diese &1 s9aer G s 2

Options:

o T FEE TTHHT Methe B

. fEFar wIEa TEWT qEEd
i OIEe HIFH SR
, x ANSTT TEET Ferhie

Question Number : 52 Question Id : 27911764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An unsolicited and unwanted Email sent in large quantities is often termed as:

Options:
1 % SCAM

5 « SPAM
2 ® HAM
4 % Trash

Question Number : 52 Question Id : 27911764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TE HEAT H FFRUT HR 30T A S5 1 T Fed 27
Options:

% TohH
E.Jﬁﬁ
5 % eH
g% S




READING COMPREHEMNSION

Section Id ; 27911714

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 27911714
Question Shuffling Allowed : Yes

Question Id : 27911765 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehiension

Eead the following passage and answer the guestions given after it.

It was during the American war of Independence, One day Washington was riding along a road. dressed not like a
General bt like an ordinary gentleman. On the way he saw somme soldiers rying 1o [if 8 heavy beam on to o bank,
There was a Corporal. a petty officer with them. who shouted loudly, siving them orders every now and then.

‘Washington stopped there to watch the soldiers. They did not know he was Washington. the General. The beam was too
heavy tor the soldisrs to lift. Although they strained very hard to lift it, yet they could hardly move it. Thev needed just
ane man more o help them. But the Corporal offerad no belp and kept calbog,* Push it? Pall it! Lift 117

Washimgton watched poor soldiers for some time and then toming to the Corporal said, “Why demdt von belp thean to [0
the beam " The Corporal ar otice turned round and said. “Don’t vou know, Sir. I am a Corporal ™

‘Washington replied. “I beg vour pardon. Mr. Corporal. I didn’t know that won were such a great man.” Then he at once
got off hiz horse, took off his coat, pulled up the sleeves of his shirt and pulled at the beam with all his might. With his
help the soldiers were at once able 1o it the beam onta the bank. The Corporal remamed standing and did not care 1o
help. Washington then put on his coat. got upon his hotse again and said. *“Mr. Corparal. if in future you have such a
heavy work to do and not have enough men with vou, you send for your General. He will not think it beneath his dignity
1o help the poor seldiers in then worke. ™ Tt was now that the Corporal realized that Washington, the greal General was
speaking to him
General George Washington, later on became the first President of United States of America.

Sub questions

Question Number : 53 Question Id : 27911766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When Washington was riding along a road. he was:

Options:
1 % the President of USA.

-, % anordinary gentleman.

= % asoldier.

4  the army General.



Question Number : 54 Question Id : 27911767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What the soldiers were NOT doing?
Options:
, w IIying to lift a beam on the bank.

- % Straining very hard to move the beam.
-  Asking the corporal to help them.

4 % Taking the orders of the Corporal.

Question Number : 55 Question Id : 27911768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The passage clearly shows that Washington:

Options:
1 % loved to ride horses.
- o didn’t consider any job mean.

5 % showed respect to the officer.

4 % liked to do his own work.

Question Number : 56 Question Id : 27911769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Don’t you know. Sir. I am a Corporal.” This statement shows that the Corporal was a:

Options:
, % greatman.
- » high officer.

5 high-headed man.

4 % petty officer.

Question Number : 57 Question Id : 27911770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following sentence shows that Washington was a great general?
Options:
, = Hewas riding in plain clothes.

> w He stopped to watch the soldiers.

- » He asked the Corporal to help the soldiers.

4 « He helped the soldiers lift the beam.



Question Id : 27911765 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension

frafafay @@ 92 3t zo% oig S 7 9val F 3o &

T8 FI9T & T FATET 7uY & 2w & 99 &) U B9 SEES U6 HE & Ghelld FaN & 18
o SRl STE T MITT SR S TR & Ueh HIUNOT o o MiTH U R 1@ 8 U # I
HEF T v A S F AT W IIE T S FE SS9 W 3AE ITY U HEHHT o7 AT

T o7 3 THT OHT 97 3% WA £ TaT o

T AR 2ua F v 378 7 731 ? 7 79 § T 35 fives, 3w 9 #fet & Re e
R AEAMT N T I e AN R T SR R IR I e g e T w
) 3wk T U ST cuTT B WEOAT S HEIOEAT o) S HEET o T o 9 # mErer &
SR T i HT FEAT AN 16T, 9 Ierar! ¢ Fara % s

AMEEA & TO TAT & @7 f9 #FE fur A B amer o o e wEn, A AR IEE A
s T O A E A m#aﬁ'ﬁmwmgﬂmmmm “FT HIT AL SRS
HilET, # UF FEET LI

TETET of Ioow A, “H AT AEe € e S, # il Sea o1 & 3 saw AR sae R R
TF FTS O F 307 M, HIAT FIE SOWT, FHS H AT FH FAL TS mmﬁm#ﬁ—#
Tart F W97 T A WETAT O AR § @ o 6 uT uw aw # 8 3 T NwwT wEr e M
HETAT F4e 0 e GIEE o | SHe =18 SREEA o 399 FiE TaaT T H OE 97 99 g8
T, “FEET S, O aTETT 7 3o OTF §F 07 o %S SAiEw #7 wa #r & T 3 9w smevTs
¥ A g, A ¥ FA FOGAT AR 71 IF 4= AR F FH A I WEOAT F F AT
& FUT T FJAT THE | mﬁmﬁrmgmﬁiaﬁ}aﬁ,ﬂgm ST FEH a9 &1 W 2

TN S SEEA, 51 H AOEd Ued FANE & 9Fe 9 a9 o
Sub questions

Question Number : 53 Question Id : 27911766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

e =T AN & Teguia
> # Uch HIYNUT Haad
- w U THOTEr

4 v UF HAT FAla
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Question Number : 54 Question Id : 27911767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT 7 78 T W W
Options:

% SIF & TFAN 9T I3 Fr FifErer
- HPHT F FEEIA F= F 0T ae | O



. % HPBET & 3T & 9ol Y T o

Question Number : 55 Question Id : 27911768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 27911769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 27911770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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OUANTITATIVE APTITULDE
Section Id : 27911715
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questions to be attempted: 6



Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 27911715
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 27911771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2

3 6 5 ; . . :
il and 7 are arranged in the descending order. then which one will be the second?

If the fractions

| ke

Options:

1 ®

=1 | b2 0|

t
b
@

5

4 « 11

Question Number : 58 Question Id : 27911771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 59 Question Id : 27911772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The difference between a number and its two-third is 24. Find the number.
Options:

1 % 48

] ® 36

= % 60

4.« 12



Question Number : 59 Question Id : 27911772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U HET 3K 38+ 2-FR8E &7 39T 24 & AT &7 9497 0|
Options:

, = 48
> % 36
=z % 60
4 12

Question Number : 60 Question Id : 27911773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An amount of 660 is to be divided among A. B and C in the ratio of 3 :4: 5. What is the share of C?
Options:

1 ® 175

o of 275

=8 BT

4 % 475

Question Number : 60 Question Id : 27911773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
660 # TRr F A, B AT C H 3 : 4 : 5 Hqua ¥ =11 71 g1 C F fewan Foream 27

Options:

% 175
. ¢ 275
5 % 375
. % 475

Question Number : 61 Question Id : 27911774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Pipe A can fill a tank in 3 hours, and pipe B can fill it in 4 hours. If both the pipes are opened simultansously, then in
what ritne will the tank ger filled?

Options:

1 % 3.5 hours
i

ol hours

3 # 2 hours

12 hours
4 o 7

Question Number : 61 Question Id : 27911774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

, % 3.5
2%3;13%:
3_% 2%

12

4 & 7

Question Number : 62 Question Id : 27911775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The average age of 10 personsis 55. A personweighing 55 kg is replaced by
another person weighing X kg. Now, the average weight of 10 personsincreases by
1 kg. What is the weight of the new person?

Options:
; % 60kg

> % 37kg

—

5 » 09kg

4 o 05kg

Question Number : 62 Question Id : 27911775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

10 =gfFaar &7 3dtaaa IR 55 31 v =ufeg fSaer a=i= 55 Ger ¢ =3
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Options:

; » 60 fFar
- % 57 TFam
- % 69 far
4 v 65 faFar

Question Number : 63 Question Id : 27911776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The area of a square is thrice the arca of rectangle. If the area of a square is 768 cm” and fength of the rectangle is 32 cm,
then find the penimeter of the rectangle?

Options:

1 ®% 88cm



> % 96cm
=z « 80 cm
4 % 04 cm

Question Number : 63 Question Id : 27911776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Te 397 &1 ST, ITOT & aEEA ﬂﬁ#ﬁ%iﬁﬁﬁﬂ%?ﬁﬂﬁﬁgzﬁrmﬁﬂmﬁ
32 T & O g = 9fmAe o #ne

Options:

, = 88 &=
> % 96 fa=T
-« 80 T
4 % 64 f&sT

GEMERAL MENTAL ABILITY AND REASONING

Section Id : 27911716

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 27911716
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 27911777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In the fellowing questions. there 15 a certain relationship between two words on one side of ;; and one word 15 given on
another side of 3 while another word 15 to be found [rom the given altematives, having the same relation with this word
as the words of the mven pair bear. Choose the correct altemative,

Cattla : Herd :: Sheep - 7
Options:
1 « Flock

- % Swarm
% % Shoal

4 # Mob



Question Number : 64 Question Id : 27911777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Catile : Herd :: Sheep : ?

Options:
1 « Flock

5 ®% Swarm
=z % Shoal
4 ® Mob

Question Number : 65 Question Id : 27911778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. there is some relationship between the two terms to the left of :; and the same relationship

holds between the two terms 1o ifs right. Also, in each question. one term either o the right of 1@ or to the left of 17 1
missmg. This tenn is gmven as one of the alternatives given below each question. Find ot this term.
ADE TG ENC:?

Options:

| % PQR

2 v PQT

5 % RQP
4 B TPR

Question Number : 65 Question Id : 27911778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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ADE : FGJ :: KNO : 7
Options:

. % PQR
., » PQT
- » RQP
. = TPR

Question Number : 66 Question Id : 27911779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Deepalc starts walking straight towards east, After walking 75 meters. he turns to the left and walks 25 meters straight.
Again he turns to the left, walls a distance of 40 meters straight, again he tuns to the left and walks a distance of 25
meters. How far is he from the starting point?

Options:
1 ® 25 meters

> % 50 meters
= % 115 meters

4 « 35 meters
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Pointing to Ketan, Namrata said, “He is the son of myv father's onlv son.”™ How is Ketan's mother related to Namrata?
Options:

; w» Daughter

> ®% Aunt
= % Sister
4 « Sister-in-law
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If - means x, ¥ means +, + means — and — means <, find the value of
IHx 3+5—2 42

Options:
1.9
> % 10
= % 19
4 % 6

Question Number : 68 Question Id : 27911781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
qﬁ+ﬂmx,xﬂw+,+ﬂm-3ﬂ?-ﬂm+,ﬁ
16 x 3 + 5 - 2 + 4 & AT & 9aT 0|

Options:

1. ¢ 9

- % 10

z % 19

4 % 6
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Study the graphs carefully to answer the questions that follow:

Number of people (in thousands) using three different types of mobile services over the years
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What is the average number of people using mobile service M for all the years together?
Options:

2
— 165

1
5 14444;

2
5 oF 16666;

1
.
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When did the British make English the medium of instruction (education) in India?

Options:
1 ® 1813

> 1835
- % 1833
4 % 1844
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% 1813
. » 1835
. = 1833
. % 1844
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The ‘Armed Forces Flag Day’ is observed every year on:

Options:
; % 26% October

> % 21 November
5 % 18" December

4 « 7% December
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The ‘Shwedagon Pagoda’. also known as the *Great Dagon Pagoda® and the ‘Golden Pagoda’. is situated in:

Options:



, % Mumbai, India

- % Tokyo. Japan

-  Yangon. Myanmar
4 % Kyoto. Japan
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Where are the current headquarters of International Organization for Standardization (ISO) located?

Options:
| « Geneva, Switzerland

5 % Paris. France
5 » Berlin, Germany

, = London. England
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Santosh Trophy is associated with the game of:



Options:

1 # cricket
> « football
5 » hockey
4 % tennis
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The book ‘The Argumentative Indian’ is written by:

Options:

, % Mulk Raj Anand
-~ % Dan Brown

= % Bimal Jalan

4 Amartya Sen
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There is welcome policy action in power. The Union Cabinet has approved an elaborate tariff policy that seeks
to boost efficiency, environmental sustainability and financial wiability of the vexed state power utilities.
Howrever, continued populism and politically mandated tariffs can verily short circuit the systern. And without
clear-cut political will for distribution reforms, so that consumers pay reasonable tariffs for power drawn, the
reforms would corme to naught. The revised tariff policy seeks to unlock scale econormies by expansion of
existing power plants. We need focused technology policy for the power sector, so that power producers are
able to rev up efficiency improvermnent in generation, reduce carbon ermissions and also foray into the domain
of renewable energy. What's envisaged is faster diffusion nationally of smart tamper-proof digital meters
{which are now inexpensive) to enable more accurate pricing of power. We do need 'time of day' tariffs to
account for the dearer cost of power during the hours of peak load. The econormic cost of peaking power is
higher as it generally requires costlier fuel like natural gas. Also proposed is stepped-up transmission capacity
across India. In tandem, we need to mandate transparency for power distribution utilities, such as regular
publication of quarterly accounts. The tariff policy now explicitly mandates that conventional thermal plants
generate and procure renewal energy like solar power in the next few years, which is unexceptionable. The
power majors can and should foray into photovoltaic solar thermal plants as brown field expansion. And for
the latter route, it seermns entirely possible to leverage currently available expertise, such as latest vintage
supercritical and ultra-supercritical boiler and turkines. Howeewver, the idea of nil interstate wheeling and
transmission charges for solar and wind power needs to be reconsidered. [t makes no sense to get renewakble
energy addicted to subsidy, especially when its costs are steadily coming down and subsidies hawve a habit of
entrenching themselves deep, once introduced. Also welcome 15 the progress made in other areas, such as
energy and climate change. France has pledged 300 rrillion euros 1o the International Solar Alliance and
partner India in its effort to enhance manufacturing. With this Republic Day wisit, MNew Delhi has signalled its
partnership with Paris is not limited o bilateral issues and interests but also the major challenges that
confronts the globe.
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